BERTHTIER

Le nom vient du germanique "berht"= brillant, céleébre, et
"hari"= armée.

Codes postaux:

04 290 Volonne
38 350 La Salle-en-Beaumont (Les Marcoux)
38 970 Corps (= C)

Table:

Al/Claude Berthier, a la Salle en Beaumont
Bl/Antoine Berthier, a la Salle en Beaumont

X/ h Berthier non rattaché
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Al/Claude Berthier, a la Salle en Beaumont

Al/Claude X Jeanne Bernard
11/Jean X Louise-Lucresse Corriol
tLouise Catherine X Pierre Barbe
Madeleine x Pierre Fallavel
21/Jean X Marie-Frangoise Pellissier

Al/Claude BERTHIER
av 1729; p C 1.9.1767;
valet La Salle en Beaumont
X av 1747
Jeanne BERNARD
*av 1732;
+ ap 1765
d'ou:
- Jean qui suit en 11/

ler degré

11/Jean BERTHIER

°La Salle en Beaumont av 1747; (s); Sr; Me;

pC 4.9.1759, 1.5.1765, 30.7.1769, 16.6.1777;
tailleur C; garde Cie Mgr duc d'Orléans 12.2.1781
x C 7.5.1765

Louise-Lucresse CORRIOL (fa Jean x Lucresse BRUN)
°Volonne ca 1735; Dlle;

mC 26.2.1755, 24.9.1756, 5.3.1785

d'ou:
— Louise—-Catherine x Pierre BARBE
- Jean qui suit en 21/
— Madeleine x Pierre FALLAVEL
- Théréze-Victoire; b C 23.7.1771; (+)C 3.3.1773
- Francois—-Marian-Balthasar; b C 13.9.1772; (+)C 14.10.1773
- Marian-Bruno; b C21.7.1774
- Marie-Sophie-Emilie; b C6.9.1775; (+)C 31.1.1776
- Anne-Julie; b C 17.4.1778; Dlle; m C 29.3.1792
- Paul-Casimir; b C 25.7.1779; (+)C 28.8.1784
- Jacques—-Philippe; b C 1.5.1781; (+)C 21.8.1783
2e degré

21/Jean BERTHIER (fs 11/)

bC1.9.1767; p C 21.7.1774, 22.3.1789, 28.10.1790

hab C

x C 19 ventdse an 10

Marie-Frangoise PELLISSIER (fa Jean-Jacques x Marie BOREL)




Bl/Antoine Berthier, a la Salle en Beaumont

Bl/Antoine x Louise Calvat
L11/Antoine x Magdeleine Court

Bl/Antoine BERTHIER
hab La Salle en Beaumont; + av 1796
x av 1770
Louise CALVAT
d'ou:
- Antoine qui suit en 11/

ler degré

11/Antoine BERTHIER

°LLa Salle en Beaumont 1.12.1770; hab Les Marcoux, La Salle en
Beaumont

x C 30 pluvidse an 2

(Marie) Magdeleine COURT (fa Jean x Elisabeth ACHARD)
bC2.1.1772

(x2/Jacques Floret)




X/ h Berthier non rattaché
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